33

18

79

54

20

Web

54



0.013

n=0.015

20

A

n 0012 B

35

12km
2.5
2 Onz() 015
' (o H10
T '\

0.013
| H18
/ |
0.5
n
0.0
0 10 20 30 40
(ths)
G---0
‘_
’ T —ﬁ Q
v\Flow < E
O
100m

50



90

72

91

71

82

69

: m/ s)

9B

8p

op

8B

9

s p

10

95

12

96

98

83

15

9 1

15

97

0 3

91

D 4

r 7

3 6

7 9

7 3

/ 5

2km

q---p Q4

Q2

Q4

Q3

Q1
Q1

Q2

Q3

Q4

10

10



5
18
98mm
14mm
6 21 22

2
7 17 18
Hk

28mm

Np

10

20

30

10

20

30

( mm)
L ' |
IS L
| YR=6.0 YR=98.0
| .
\
A
! LY
| YR=32.5 : YR=14.0
21 1 <f 11 2
18 18 7
10




16

0
-
£ <
~ -
~
< €
3 < -
d <
o 1o
I o -
g < P “
=)
I o
- < \M\ -
L “lm
| 6% - j o 0P —
@
—— o o —2° 0 oo, °
N.,W Al
ow
=)
T o &v
%&& i
%0 Y,
L 0% R 0o
= © o © 0 9 ~
| P © © & © & © © © ¢ § b~ © Ip K I — L
=) O ® 0~ © Y m®mN +4 O O O O o o o o o o
o N < © ® =
- 4+ OO OO OO0 OB® 00 0O o O O © © O0~© O
£ » »
£ 3 S
- - -

300

12

h

11

I

i

10
18

i

28

18

26

24

22

14

12







